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#include <stdio.h>
#include <math.h>

#pragma warning(disable:4996)
int main() Patibuse Lak.
{

double x;

double y;

char buf[256];

inti;

double start_x;

double step_x;

FILE* fp;

printf( "start_x =");

fgets( buf, 256, stdin );

sscanf_s( buf, "%If¥n", &start_x);

printf("step_x =");

fgets( buf, 256, stdin );

sscanf_s( buf, "%If¥n", &step x);

—5—— —
fp = fopen( "z:¥¥data.csv", "w" ); 5% |: EE %ﬁd)
for(i=0;i<20;i++){ — 1 Sere
= /,—

X = start_x + (i * step_x ); / ETE;ﬁ 1TD ( (A%EB/? i

yv=(98/20)*x*x;

printf( "x= %f, y= %f¥n", X, y );

fprintf( fp, "x=, %f, y=, %f¥n", X, y );
}

fprintf( stderr, "file created¥n");

fclose(fp);
return O;
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start_x =0

step x=0.1

x=0.000000, y= 0.000000
x=0.100000, y=0.049000
x=0.200000, y=0.196000
x=0.300000, y=0.441000
x=0.400000, y=0.784000
x=0.500000, y=1.225000
x=0.600000, y=1.764000
x=0.700000, y=2.401000
x=0.800000, y=3.136000
x=0.900000, y=3.969000
x=1.000000, y=4.900000
x=1.100000, y=5.929000
x=1.200000, y= 7.056000
x=1.300000, y=8.281000
x=1.400000, y=9.604000

(LA #e< )

DrafFase Zak.




TVRITEB DTz DEE T

Palebuse Lok



R 2 . =@EZ0mia .

- B EESEHRIHAAT, BiEZTETDT0O0
SLZED
#) 2. 5, ESHS5DEE,

mE: 6. 25

K], &, MEZINDEHIC, ZFENVNERDZES
Z 3 DES




#include <stdio.h>
#pragma warning(disable:4996) D 155
int main()

{

double teihen;

double takasa;
double menseki;

printf("teihen=");
scanf("%If", &teihen);

printf("takasa="); /
scanf("%lf", &takasa);

AIEBT

ST EEDS)

1 — 1 %k * .
menseki = teihen*takasa*0.5; — L 43
printf("menseki=%f¥n", menseki); .
return O;
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X=2.5
y=5
z=6.250000
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printf("teihen="); | A W 17—=" [teihen=| Z“ZF= 1~

l

scanf("%If", &teihen); | JFEV NS — T i A G

printf("takasa="); | X W17 —=> [takasa=| ZF~

scanf("%If", &takasa); | JFEN NG — S T i G

l

menseki = teihen * takasa * 0.5;

printf("menseki = %f¥n", menseki);

return 0;| F24D 1)
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teihen |«

scanf("%lIf", &teihen);

@

A

takasa

menseki = tekhen * tak

isa ¥

0.5;

v

@

scanf("%lIf", &takasa);

menseki

* printf("menseki = %f¥n", menseki);
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double teihen;  + EBWINRST—H T, EE %L teihen]
double takasa; - SREN T — AT, AT [takasal
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double mensekl; 1 s=@h \#5— 4T, ZAE Tmensekil
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« STEHEE (teihen*takasa*0.5) Z, ZZX menseki
[CH8INT D (CDhZEzE, RAEWLD)

e [=] (&, BRCETERREFZIBINITISIENDE
k. THZAFLL] EVWDSERTEZRVY

14



AH, HHOEE

c AJJ
« —ADFHFAFH
GRHIAFENTZT — A FEEUTABINESND)

* 173
« AV E—TORR
» T—HDRR

(BB =NTZT —INTRREND)

15



AFY s &

Palebuse Lok

H_J

1l g FAARADNETEHE

s AN &, T—FZFHIHADTZEHDNX
° E_t & uu,é'u_ct‘/\%w‘yﬂl% %E <

- BN . FEIEGT —HZEHAADERS, N
[%lf] EELZEICIEDTVD

ZREG . BHAOHICE [&] ZFl1d2 &

16



WBWNBTEATT ?J

double x: FENNENDEEX

scanf( "%If¥n", &x ); x NDA]

double a; _ N )

double b 7B/ NERDEEN
' a &b ANDAS

scanf( "%lf¥n", &a);
scanf( "%lf¥n", &b );
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printf( "x="?"); Awvtr—= [x=?] D
RIR
[ x='10.0000
printf( "x= %f" ); y=20.0000]

printf( "y= %f" ); DRI, Ayt—=
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printf("menseki=%f¥n", menseki);
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double teihen;
double takasa;

double menseki;

« 2T :
%lf — scanf (A1) THOEI
%f  — printf () TOER
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#tinclude <stdio.h>

#include <math.h>

#pragma warning(disable:4996)
int main()

{

double a;
double b;
double theta;
double S;
printf("a=");
scanf("%lf", &a);
rintH"b=" o AE
scanf("%lIf", &b); s
printf("theta="); sTEEPD
scanf("%lIf", &theta); /
S=0.5*a*b *sin(theta * 3.14159 / 180.0 );
printf("S = %f¥n ", S );

return O; \ snpaksilisa)
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y = sin( X );
sinx ZaTE U, vy (CISHN

y = sqrt( X );
VXZETR LU, v (I8N

d=sgrt( (x*x)+(y*y));
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#include <stdio.h>
#include <math.h>
#pragma warning(disable:4996)
int main()
{ [El 5 15272 ] NOE#R
double degree;
double s;
printf("degree=");
scanf("%lf", &degree);
s =sin( degree * 3.14159 / 180.0 );
printf("sin(%f) = %f¥n ", degree, s );
return O;
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